JAVALU O OO OJavad OO OO O202PDFO OO O OO O
Jooooboooooo
https.//www.100test.com/kao_ti2020/138/2021 2022 JAVA E6 95
_99 E7 A8 8B c97 138754.htm20020 00000 O20201
000 obooouoodooooooodoooooog
Jdo0oooboooooodoooooooooooonon
Joodobooooodono ooodoooooood
D000 o oo0oouooooos>o0ooooooo d
Joodobooooooooodooi1doooon 0—
O0*0/0%0 0———0 000 32.a-bi.--.20 00000 >
O=0 000 count>3. I==0.n!'=-1.30 0000000 !
Oamp.O || O OO O flag=true. !(flag). flagamp.false. 4 00 (1 [0 [
[ >>[1 >>01 amp.b=00011001. a]b=10111101. ~a=01100010.
a”b=10100100.50 0 000 =00 000000000 =0
—=0*=0 /=00 000 i=3.1=3.//000i=13.600000
70 O00Oresult=(sum==0?1:num/sum). 70 00 OO OO
D00 000000 [Job0O0n0dinstanceoft] O O O O O
OOnewD DOODOO0OO0OO0(@@OH)yooooooo (O
00000 System.out.printin(“hello world"). int arrayl[]=new
intf4]20 2020 00 DO OO0 O0Oodooooooooao
Jododobooooodobooouoooooooooa
Jo0odoooodoodonooouooooooooon
Jdo0odooooooodooooooonibooon
00 0oboooooodooooooodooooooo
Jdodoooboooooodoooooo ooooonon
xamp.y|lz OO OOOO numlnum2.20 00000000 O



OO000000o00o0oooooooooo,0o0onoad
Jo00o00odooododonpgo?2--!~instanceof3new
(type)d* /%5 - 6>> >>> 7> =8= == Jamp.amp.= |= >=>>>=
DO00000000000000 Result=sum==0?1:num/sum.
[ 100 O result=sum==0?1:(num/sum) [ 2[]

[ result=(sum==0)?1:(num/sum) [ 3[]

O result=((sum==0)?1:(num/sum)) O 4] [J result= 100Test [J [
Oo000000o00o0oooooooood
www.100test.com



